
just checking . . . .

1. Converge or diverge?

+∞∑
n=1

tan−1 n

n1.2

Consider
∑

1
n1.2 - this is a convergent p-series, p = 1.2.
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So
∑

tan−1 n
n1.2 converges by the Limit Comparison Test.

2. Converge or diverge?
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- this is a divergent p-series, p = 1.
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So
∑

1
2n+1

diverges by the Limit Comparison Test.

3. If the series converges, find its value.
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=⇒ sn = e− e
1

n+1

Answer:
∞∑
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[
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1
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1
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]
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[
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]
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4. Converge or diverge?
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The series diverges by the Divergence Test.

5. Converge or diverge?

+∞∑
n=1

5n

(2n)!

Apply ratio test (factorials)

an+1

an
=

5n+1

(2(n+1))!

5n
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=
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=
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5n · (2n+ 2)(2n+ 1)(2n)!

lim
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= 0 < 1

The series converges by the Ratio Test.

6. Converge or diverge?

+∞∑
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Consider

∑
1
n
, a divergent p-series, p = 1.
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The series
∑

tan(1/n) diverges by Limit Comparison Test.


